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Immediately after opening the seals, check to
ensure that there is no defect in the Question
Booklet and all the pages are intact. If any
defect is detected, immediately inform the
Room Invigilator. If necessary, the Question
Booklet will be replaced.

The candidate has to answer 150 questions in
all. Each question carries 1 mark.

- Answer the questions in OMR answer sheet

only.

Read the instructions given in OMR
answer sheet carefully before answering.

There are four alternative choices against each
question. Select the correct and most
appropriate choice and mark it with
blue/black ball point pen in the right bubble of
the OMR answer sheet in such a way that ink
does not spread out of the bubble. :
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Child Development and Pedagogy

XXI-1
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1.

Who talked about identity crisis in his
theory of personality?

(A) Alfred Adler

(B) Sigmund Freud

(C) Erik Erikson

(D) None of these

'Self' refers to -

(A) those attributes of a person that
make her/him different from
others.

(B) those aspects of a person that
link her/him to a social or cultural
group or are derived from it.

(C) the totality of an individual's
conscious experiences, ideas,
thoughts and feelings with regard
to herself or himself.

(D) None of these

Which of the following is a characteristic

of personality?

(A) It has both physical
psychological components.

(B) Its expression in terms of
behaviour is fairly unique in a given
individual.

and

(C) Its main features do not easily
change with time.
(D) All of the above.

The pioneer of 'trait approach of
personality' is -

(A) Raymond Cattell

(B) Gordon Allport

(C) H.J. Eysenck

(D) Sigmund Freud

The theory of observational learning was
given by - :
(A) Pavlov
(B) Skinner
(C) Bandura
(D) None of these
P.T.O.
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very hard for her
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A girl chil
exam”’]atlon

indicator of her
(A) Sharp cogn
(B) High achievemen
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which of the following approaches of
learning?

BehaviouristiC

itive abilities
t motivation

Cognitive
Humanistic
Scientific

(8)
©
(D)

'Negative Reinforcement’ means -
Not presenting any stimulus.

(A)

(B) Presenting an unpleasant
stimulus.

(C) Punishment.

Terminating an unpleasant stimulus.

(D)

Programmed Learning is based on -

(A)
(B)
(C)
(D)

Field theory

Operant conditioning
Gestalt learning theory
Classical conditioning

A mathematics teacher discusses some

_problems in the classroom and then asks

the students to work out some problems

given in the book. Students are
Practising the law of —

(A) Contiguity

(B)
(©
(D)

Exercise
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XXI-1
Interest refers to -
(A) An individual's preference for
engaging in one or more specific
activities related to others.

(B) Relatively enduring characteristics
of a person that make her or him
distinct from others.

(C) Anindividual's underlying potential
for acquiring skills.

(D) The global capacity to understand
the world, think rationally and use
the available resources effectively
when faced with challenges.

Which of the following methods involves
seeking information from a person on a
one-to-one basis?

(A) Case study

(B) Self - report

(C) Interview

(D) Observation

Which of the following statements is

not correct about development?

(A) Development is lifelong, i.e., it
takes place across all age groups
starting from conception to old
age.

(B) Development is influenced by
historical conditions.

(C) Developmentis uni-dimensional.
(D) Development is highly plastic.

Development of symbolic thought and
establishment of object permanence is
visible in which of the following stages
of cognitive development according to
Piaget?

(A) Sensori motor

(B) Preoperational

(C) Concrete operational

(D) Formal operationa!

P.T.O.
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The stage of life that begins at the
onset of puberty, when sexual maturity
or the ability to reproduce is attained
is commonly known as -

(A) Childhood

(B) Infancy

(C) Adulthood

(D) Adolescence

Which of the following statements is
correct about adolescence?

(A) Imaginary audienceis adolescents'
belief that others are as
preoccupied with them as they
are about themselves.
Adolescents' sense of uniqueness
makes them think that no one
understands them or their
feelings.

(B)

Personal fables are often part of
adolescent diaries.
(D) All of the above.

©

Anorexia nervosa is a -
(A) sleeping disorder
(B) mental disorder
(C) eating disorder
(D) physical disorder

The process of adjusting to bright light
after exposure to dim light is called -
(A) Regeneration

(B) Lightadaptation

(C) Dark adaptation

(D) Saturation

Which of the following statements is
correct about learning?

(A) Leamningisany relatively permanent
change in behaviour.

Learning always involves some
kind of experience.

Learning is an inferred process and
is different from performance.

All of the above.

(B)
(&
(D)
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is not a
of formal

Which of the following
characteristic feature
assessment?

(A) Varies from case to case
(B) Objective

(C) Standardized

(D) Organised

The two-factor theory of intelligence
was proposed by -

(A) Howard Gardner

(B) Robert Sternberg

(C) Charles Spearman

(D) Lev Vyogotsky

Response, organization and characterization

—are included in which domain of

educational objectives?
(A) Cognitive domain

(B) Affective domain

(C) Psychomotor domain
(D) None of these

Which of the following is not a
technique of motivation?

(A) Reward and Punishment

(B) Praise and reproof

(C) Novelty

(D) Recall

Factor influencing emotional development

in children is -

(A) Health and Physical development

(B) Family atmosphere and relationship

(C) Neighbourhood, community and
society

(D) All of the above

Type R-conditioning is known as -
(A) Classical conditioning

(B) Operant conditioning

(C) Connectionism

(D) Experiential Learning

P.T.O.
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26. ITH-3INHRINE & smavaman wrafera S- 26. Self - actualization needs are related
(A) sFIgfe Rrgra @ to - .
(B) a7 g (A) Theory of insightful learning
T i R (B) Field Theory
© g o ¥ (C) Information Processing Theory
(D) el & i) st R (D) Maslow's Humanistic Theory of
A learning
2 ¥ 3 o & - 27. Sensory memory is also known as -
(A) ariferd W @ (A) Immediate Memory
(B) sreumiicies wfr @ (B) Short-Term Memory
(C) Admifers wifa & (C) Long - Term Memory
(D) ™ 9§ B 7 (D) None of these
28. fifesa B ¥ ToM ToTemar @ gi‘a 28.  Which of the statements are true about
& e ¥ Iy 87 creativity and intelligence?
() FoHIHG d §ig & 9 GORIHD () The relationship between creativity
T g and intelligence is positive.
(i) Wﬁm%ﬁﬁﬂaq‘ém (i) Intelligence does not ensure
o =fts Ssghe ot amml creativity.
(i) TSHICHD X1 § 3R ’Kiaw @t (i) Creativity tests involve divergent
3uanT & & sEe gia el § thinking whereas intelligence tests
) i hinking.
Ry Riqe &1 399 f6ar ST 21 involve convergent t
. . (A) (i) and (ii)
¢ ﬁ - () (i) and (iii)
(® () ﬁ?('ff.) (© (ii)and (i)
8 :f')) o (3'}% il ©) (i), (i) and Giii)
i), (ii
= 29. The level of consciousness which is
22 - i agﬁwi = IR considered as the reservoir of instinctive
31 HER el % E or animal drives is -
(A) 3rad (A) Unconscious
(B) gdea (B) Preconscious
(C) °H (C) Conscious
(D) T W ARl (D) None of these
¥ Eﬁﬂ?ﬂ i fence mechanism in which
%ﬂ;rﬁ[ 39 T a{ﬁ 30. Thekind of de .
i Ergm'\f&ﬂ;fﬁw Q\ff &RE JaT B TR A anxiety provoking behaviours or
. thoughts are totally dismissed by the
R few St & - unconscious is -
(A) IR (A) Denial
(B) @Hd (B) Repression
C) weror (C) Projection
ED; qﬁﬁ?\’(ﬂ (D) Rationalisatipn

SET-C [8]
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(A) 1857
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(C) 1910
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First Language - English

XX1-1

Direction (Q. No. 31) : In the question
below, a sentence has been given in Direct
Speech. Out of the four alternatives
suggested, select the one which best
EXpresses the same sentence in Indirect

speech.

31. I said to my friend, "Can you pick me
: up after work?"
(A) 1 asked my friend if he can pick
me up after work.
(B) 1Iasked my friend if he could pick
me up after work.
(C) 1 told my friend to pick me up
after work.
(D) 1 told my friend if he could pick

him up after work.

Direction (Q. No. 32) : Complete the
following sentence by selecting the appropriate

modal auxiliary out of the given alternatives.

32. Had our flights been on time, we

reached by now.

(A) will have
(B) would have
(C) have

© (D) shall have

SET-C

[12]

Direction (Q. No. 33 to 34) : Identify the

figure of speech in the given sentences.

33. 'Let not Ambition mock their useful toil'

(A)
(B)
(©)
(D)

eves"

(A)
(8)
(©)
(D)

Simile
Oxymoron
Personification

Metaphor

34, "The murmurous haunt of flies on summer

Simile
Metaphor
Onomatopoeia

Oxymoron

35. What are the productive skills of

language?

(A) listening, speaking
(B) listening, reading
(C) reading, writing

(D)

speaking, writing

36. Role play should be an integral part of

every language classroom because -

(A)

(B)

(©)

(D)

it is very useful to maintain
silence in the classroom.

it enables students to engage in
meaningful talk.

it enables students to memorize
the story.

it enables girls and boys to

interact freely.
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37. Which one is the theory based on the

habit formation that says that human
or any creature gives response due to
stimulus or humans learn due to
stimulus?
(A) Classical conditioning
(B) Operant conditioning
(C) Stimulus conditioning
(D) None of these

38. The scientific study of articulation,

transmission and reception of speech

sounds is called -
(A)
(B)
(©)
(D)

Linguistics
Morphology
Phonetics
Syntax

39. According to the National Curriculum
Framework 2005, English in India is
in a multilingual country.

(A) aforeignlanguage
(B)
(®)

(D)

a global language

an associate language
a first language

40. The linguist, Noam Chomsky maintains
that every child has an innate Language
Acquisition Device (LAD) that he/she
uses for -

(A)
(B)
<
(D)

Semantics
Phonetics
Universal Grammar
Complex words

SET-C
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XXI-1

Direction (Q. No. 41 to 45) : Read the
passage given below and answer the
questions that follow by selecting the most

appropriate option.

It is difficult to reconcile the ideas of
different schools of thought on the question
of education. Some people maintain that
pupils at school should concentrate on a
narrow range of subjects which will benefit
them directly in their subsequent careers.
Others contend that they should study a wide
range of subjects so that they have not only
the specialised knowledge necessary for their
thosen careers but also a sound general
knowledge about the world they will have to
work and live in. Supporters of the first theory
state that the greatest contributions to
civilisations are made by those who are most
expert in their trade or profession. Those on
the other side say that unless they have a
broad general education, the experts will be
too narrow in their outlook to have sympathy
with their fellows or a proper sense of

responsibility towards humanity as a whole.

41. Broad general knowledge is necessary

because -

(A) withoutitnoone would get a job.

(B) it broadens one's outlook.

(C) it teaches us about different
things.

(D) specialisation is complete without
it.

P.T.O.
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42,
(A)

(B)

©

(D)

43.
(A)

(B)

(®)

(@)

44,

'Schools of thought' can be explained as-

groups of people who are schooled
to think.

groups of people whose job is to
think.

groups of people who study in a
particular school thoughtfully.
groups of people having the same
ideas but with different perception

on a particular subject.

Supporters of the first theory say that-

experts have done nothing to
save mankind.

experts have contributed most to
progress in the modern world.
people with general knowledge are
more useful than experts.
people with general knowledge

have contributed to civilisation.

The idea of the first school of thought

in the passage is that-

(A)

(B)

©

(D)

SET-C

students should concentrate on
studies.

students should not undertake
any specialised work.

students should study all the
subjects they want to.
students should study a few
subjects that will help them in

their profession.

[14]

XXI-1

45. According to the second school of
thought, education will not be very

effective if pupils -

(A)

(8)

©

(D)

do not have a wide general
education.

have nothing but general
knowledge.

have inadequate knowledge of
their own work.

ignore the study of fine arts.

Direction (Q. No. 46 to 50) : Read the
poem given below and answer the
questions that follow by selecting the most

appropriate option -

Half a league, half a league,

Half a league onward,
All in the valley of Death
Rode the six hundred.

"Forward, the Light Brigade!

Charge for the guns!" he said.

Into the valley of Death
Rode the six hundred.

"Forward, the Light Brigade!"

Was there a man dismay'd?
Not tho' the soldier knew

Some one had blunder'd.

Theirs not to make reply,

Theirs not to reason why,
Theirs but to do and die.

Into the valley of Death
Rode the six hundred.
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46.

47.

48.

49,

50.

The expression 'the valley of death'
refers to -

(A) theplace where the dead soldiers
are lying buried.

the impending death of soldiers.
the house of death.

a nightmarish place.

(8)
(&)
(D)

Which of the following adjectives does
not apply to the soldiers?

(A) courageous

(B) disciplined

(C) patriotic

(D) impractical

Name the figure of speech used in 'the
Valley of Death'-

(A) Metaphor

(B) Simile

(C) Synecdoche

(D) Metonymy

Which of the following statements is
not true?

The military discipline teaches the
soldiers -

(A) to do and die.

(B) toobey their commander's order.
(C) to act tactfully in the battlefield.
(D) not to ask any question.

In the first stanza of the poem, the
soldiers are -

(A) talking to each other about their
personal problems.

(B) Waiting for their commander's
order,

(C) Thinking about the result of the
war.

(D) seen riding fast to the enemy
territory.

SET-C
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is most nearly the same in

51,

53.

XXI-1

Direction (Q. No. 51 ) : In the following
question one word, a numbered one, is

followed by four words. Choose the word that

meaning

(synonym) of the numbered word.

Camouflage
(A)
(B)
©
(D)

Disguise
Uncover
Demonstrate

Fabric

Direction (Q. No. 52) : In the following
question one word, a numbered one, is
foII‘owedAby four words. Choose the word that
is most nearly opposite in meaning (Antonym)

of the numbered word.

5. . Conspicuous
(A)
(B)
(©)
(D)

Indifferent
Harmless
Insignificant

Unknown

Direction (Q. No. 53) : Fill in the blank with

the help of suitable preposition.

Man can not live bread alone.
(A) except
(B) with
(C) by
(D) at
P.T.O.
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Direction (Q. No. 54) : 1 the following

question, out of the four alternatives, choose

the one which can be best substituted for
the sentence below.

54. One who accepts pleasure and pain
equally .

(A) Thespian

(B) Sadist

(C) Humanitarian

(D) Stoic

Direction (Q. No. 55 to 56) : In each of the
following questions, groups of four words are
given. In each group, one word is correctly
spelt. Find the correctly spelt word.

55. (A) measureable
(B) manageable
(C©) marriagable
(D) manoevrable
56. (A) impromptue
(B) illustrious
(C) illusery
(D) impetous

Direction (Q. No. 57 to 58) : In each of the
following questions, four alternatives are
given for the idiom underlined in the

sentence. Choose the alternative which best

expresses the meaning of the idiom as your
answer.

57. Ram s very calculative and always has
an axe to grind.
(A) has no result
(B) works for both sides
(C) has a private agenda
(D) fails to arouse interest
SET-C

[16]

XXI-1
58. The project is carried over to this year,
and we need to keep the ball rolling.
(A) to continue the work
(B)
(&)
(D)

more information
to do better

new strategies

Direction (Q. No. 59) : In the following
question, a sentence has been given in

Active voice. Out of the four alternatives
suggested, select the one which best
expresses the same sentence in Passive
voice.

59. Who is singing such a sweet song?

(A) By whom is such a sweet song
sung?

(B) By whom is such a sweet song
being sung?

(C) By whom is such a sweet song
sang?

(D) By whom has such a sweet song
sung?

Direction (Q. No. 60) : In the following
question, a sentence is given to be filled in
with an appropriate conjunction. Choose the
correct alternative out of the four.

60. Hardly had he left
came.

(A) then

(B) than

his brother

(C) when

(D) that
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61.

62.

63.

HIYT gt - &=t

XXI-1

f&=N avq & vt & Qe e aw
U HEA &-
(A) Fri®

(B) w¢
(C) WA

(D) ax

R TR T A, W e R
SR i § @9 W1 sEeR 22

(A) wa¥

(B) TUD

(C) au®

(D) USIp FpIer

¥ &1y 3rf g & S 3R Tar arf
3 ST ST 8-

(A) 3 - fo=R

(B) 3rf - dora

(C) 3rRieEr

(D) & I o8 T8l

-8R, g, 39 = # s caght o A

grar &2

(A) it
(B) et
(C) 3IR¥E
(D) H=a

SET-C
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. VETEIE $ oEs -

(A) & frass
(B) firsrdeg

(C) amard g
(D) omard e

ﬁ&:ﬁm%lﬁaamaﬁwgé@gﬁ

(W ¥=a1 66 ¥ 70) & Halfas 30 392
a fawen &1 Ta= Hifw

“IRE 3 € gl R T @1 s Ty
<& & | Uit 3R A o1 w21 3=
3R R Fe-3ifaa w R &) wpfy 3
74 & fore SieTeras adl & 3ag fear
81 7 7 387 & B, e, 7 anfe wie
I g e | vg-ater & e & wem
el DA UG Sha-aIm arg sifade=
W em oxd &l A G ¥ o
STIANTSS BT TE0 a]d & 3R sifasier
@l TR e € gedt ) eRaet &
It U-aie) ) €1 5 3 310 Sravaman
o gfd & fore a9-Fer o1 ey A
fepa & T BRUT Wi 3rwqer 3w
& 7 81 gaiaRer § sifaiioH o B9 3R
B STEINARZE BT ToIa] adT TGN B
BRUT 3G THR B "D iRl et
@ & Ys-dlel O I B qed FGRE,
@ 3R yfir eRor & e et 8 T
g1

P.T.O.
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66. T & J 39 &t ey Y o T

67.

68.

69.

70.

e T 8?
(A) w3
(B) wHISt

(C) u@fa

(D) S|

Ug-ahey & o @) e
(A) Sifaiis=

(B) sRamwl

(C) sIsH

(D) i

qafaRor SRIe @ §URUTH T4T 6l o7

(A) TRl SgEOT & Ted HIAD ARl
Bl TG |

() Us-dieit B & & BRI A1, IFERT

(©) Tar 3R yfir &xor B wHET U
Gl

(D) USi # B &l T & U

"yafaRoT 9Ie # Uged 3uE § -
(A) o1

(B) uRk

(C) i

(D) ¥

sl 3R T @ wrase PR e & -
(A) WRER Fe-3fda m

(B) A 3R 7 & WU W

(C) = 3R TR & ey R
(D) T & P T

SET-C
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71.

72.

73.

74.

79

XX1-1
Ry ifser Rnaror 1 A HED © -
(A) T fareror
(B) TUI@RUT
(C) v feEie
HRAATHD

R Rareror ot seTTrgieTal e T o et
yfaferdi & -

(A) ®rl @ Frafr

(B) B & afigRw

(c) unfee sia: wfgar

(D) IR T

g ¥ =e-ded a8 § -
(A) Uit o el & Mg
(B) ofdar # aftfa =ifcre o1
(C) &< &I uid, afd, dmEn
m)m$mﬁ%m

frraer R & 7= FW © -
(A) TR ofe o o

(B) TARHD R &HAT & BT
OBGER I SECAREC]

(D) IRIH T

- RaoT o g faftr @ -
(A) Uxeraten fafer

(B) 3T fafer
(C) IS aHl &l

(D) & A P Tl
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76. e ufyer & 49 R &

(A) ©rE & afdsd, Bled-d 3R AR
giRRpal BT AR BT

(8) wrAl & wmw 3R el @ gemaRea
BT

(€) wmt ¥ =l sy ik wfeer & wf
SR 3 Rl

(D) 3RS [

77. iR gEI T A" $ IR BT IBR 8-
(A) Toari
(B) faeamf
(C) Hagnt
(D) frremamt

78. <o D1 Hal T | B URpdr [t
% ,

(A) PHICH
(B) ®HEREN
(€) T
(D) <o

e : FrafeRea maier @1 TR Q@ T I
(W= T 79 ¥ 83 ddb) & gdittre 3fd
IR T [dded & T B!

R G & RIS B9 fadbreT &
fere wor 9 s v dc &1 THa THed
sitwaafs & W &1 wes suRkerdd:
T €1 $HP NETdl IqH UG DS 3
forepra <t &1 fee-geadir syl &
e d el & HAR G B wehr 3R

SET-C
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79.

80.

XXI-1
BT T fmar an, R YIB! T8 ITE
HAT & FEd D ABRAT A& AT| Tegad
TR afefea & ol faEmt & A @
f Wi o I & '&d & fere srcamasas
2 Bor veR 5 v I & -

| yiifers e qen 39%6 w4, OrR,

aRemsit anfe &t @ 39 g & FaRt
& WRER fHe-em F sy fag & waar
&, 3 vyor wore fafima ¥ o 7%
TReRe daul A Frafear w8 @ urn
e e g # araRE v AR &
HreET @ Wi & difoe e e W
B Re it T& B FH PR Ul
JME; B UG HUH HIWT Bl faer & e ar
IRORG Gael & TR Sl J 96
FHIG B FHd 2

I Hie T & 3nged vd faer & forw
Y 9 &

(A) 9T d

(B) e a@

() TR =

(D) & & I

T HY IERT F IR @ A ® e
FEIFE @ SFHfd-

(A) e HeR Bl &l

(B) 3R & T HEHER &l

(C) g 8 &l
(D) HFga ¥ wE gl &l

P.T.O.
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81. Wm%wv@aa‘xmaﬂ

foreprer wvg 2 of-

(A) AR et @ gaia Raw [
S|

(B) wramard & wmest o1 qafw fawry
fasar swel

(C) A s o fefaa fear sme|

(D) UF s w1 fqafia fvar sme)

82. HNT & 'SRaT AR’ & ¥ IR &
(A) qoHSS T
(B) WR&T WaTEwdY W
(C) Weams! Tl
(D) wicicagul ey

83. T 3GaRUI BT Wals 3Ugh s -
(A) e 3R 9T a
(B) ey vd el
(C) o1 §&aT AR
(D) wfthed fadrT 3R wmT

84. ET, T, TIal el 8-
(A) TRpaE® T
(B) anfcaraw s
(C) SHard Gl

(D) HYFQTAd T

85. ‘Ff T v o1 31 &-
(A) for wg¥ia g
(B) f&m ues FUw
(C) PENI¥A T
(D) ifa e

SET-C

86.

87.

88.

89.

90.

XXI-1
g% @1 qaIar &
(A) Fa
(8) gusdid

(C) T
(D) YTER

ARYT O § B AT TR 22
(A) 3G G

(B) ™Y AR

(C) @a gA

(D) fe W

ged g # BI- AT 8
(A) arf dfer
(B) T WY
(© @y
(D) faenf wiftr

TR o= @1 e sase-
(A) SRE=
() fRem
(C) TR
(D) ¥R

' S BT &
(A) Sfcere

(B) uiivd®

(C) 3w

(D) dfsa
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Second Language - English

XXI-1

Direction (Q. No. 61 to 62) : Choose the

Correct tense.

61. Rohan
read the review.
(A) watches
(B) have watched
(C) had watched
(D) was watching

the movie before he

62. By the next month, we shall
the project.

(A) has completed

(B) completing

(C) completed

(D) have completed

Direction (Q. No. 63 - 64) : Choose the
most suitable auxiliary or modal verb out of
the given alternatives.

63. In the Middle Ages, people
travel by plane.

(A) could

(B) had to

(C) can't

(D) couldn't

Kate is ill, so she

and drink a lot of water.
(A) need

(B) can't

(C) hasto

(D) doesn't have to

64. stay in bed

Direction (Q. No. 65) : Select the word

nearest in meaning to the underlined part.

65. The maid servant left the police
station contrite.

(A) penitent
(B) sore

(C) angry

(D) remorseless

SET-C

[21]

Direction (Q. No. 66) : Select the option in
which punctuation mark is appropriately used.

66. (A) Itis mentioned in the notice, all
of us should read it.

(B) It is mentioned in the notice! ali
of us should read it.

(C) Itis mentioned in the notice? all
of us should read it.

(D) Itis mentioned in the notice; all

of us should read it.

Direction (Q. No. 67) : Complete the
following sentence using appropriate phrase
preposition from the given options.

67. How can they be going out? Jane has
nothing Peter.
(A) incommon
(B) incommon to
(C) in common of
(D) in common with
68. Which of the following methods is based

on the principle 'From example to
generalisation'?

(A) Incidental Method
(B) Remedial Teaching Method
(C) Deductive Method
(D) Inductive Method

Direction (Q. No. 69 to 73) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

Stammering is a habit disorder linked
with lack of self-confidence. Basically for a
child to understand a language, there are
four stages. The first is learning to
understand the spoken language and the
second is speaking. Both of these usually
develop around the age of two.

The third stage is speaking complex
sentences, which develops at around 3rd and
the fourth is when the child recognises the
written alphabet. In 80% of children while
the 3rd and 4th stages are at play, the first
two get disturbed because something new is

P.T.O.
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getting incorporated in the mind.

i -ThIS. is absolutely normal. But what
ver captlous mothers do is fret a lot and
the .chnd develops a fear which later
manifests itself as stammering. Infact, most
'text books on stammering state in bold that
Had there not been any over-cautious
mothers, hardly anyone would have suffered
from stammering'. Fluency can be incorporated
in the speech of such patients through
hypnosis.

69. Stammering is caused because of -
(A) Physical disorder
(B) Hindered growth
(C) Lack of self-confidence
(D) Lack of understanding
70. The second stage of a child's
understanding the language is -
(A) Speaking
(B) Writing
(C) Listening
(D) Reading
71. are basically the reason for
developing a fear in the child's mind.
(A) Parents
(B) Over-cautious mothers
(C) Fathers ~
(D) Uncles
72. Fluency in such patients can be
incorporated in the speech of such
patients through -
(A) hypnosis
(B) slap
(C) punishment
(D) symbiosis
73. By thetime the child becomes 2 years
old he/she can -
(A) speak complex sentences.
(B) only understand spoken language.
(C) understand and speak simple
language.
(D) write the alphabets.
SET-C

[22]

XXI-1

Direction (Q. No. 74 to 78) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate answer.

The last great war, which nearly shook
the foundations of the modern world, had
little impact on Indian Literature beyond
aggravating the popular revulsion against
violence and adding to the growing
disillusionment with the ‘humane pretensions’
of the Western World. This was eloquently
voiced in Tagore’s later poems and his last
testament, Crisis in Civilisation. The Indian
Intelligentsia was in a state of moral dilemma.
On the one hand, it could not help
sympathising with England’s dogged courage
in the hour of peril, with the Russians fighting
with their backs to the wall against the
ruthless Nazi hordes, and with China groaning
under the heel of Japanese militarism; on
the other hand, their own country was
practically under military occupation of their
own soil, and an Indian army under Subhas
Bose was trying from the opposite camp to
liberate their country. No creative impulse
could issue from such confusion of loyalties.
One would imagine that the achievement of
Indian Independence in 1947, which came
in the wake of the Allies’ victory and was
followed by the collapse of colonialism in the
neighbouring Countries of South-East Asia,
would have released an upsurge of creative
energy. No doubt it did, but unfortunately it
was soon submerged in the great agony of
Partition, with its inhuman slaughter of the
innocents and the uprooting of millions of
people from their homeland followed by the
martyrdom of Mahatma Gandhi.
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74,

75.

76.

77.

What was the impact of the last great

war on Indian Literature?

(A) It had no impact.

(B) It aggravated popular revulsion
against violence.

(C) It shook the foundations of
literature.

(D) It offered eloquent support to the
western world.

What did Tagore articulate in his last

testament?

(A) Offered support to Subhas Bose.

(B) Exposed the humane pretensions
of the Western World.

(C) Expressed loyalty to England.

(D) Encouraged the liberation of
countries.

What was the stance of Indian

Intelligentsia during the period of great

war?

(A) Indifference to Russia's plight.

(B) They favoured Japanese militarism.

(C) They prompted creativity out of
confused loyalties.

(D) They expressed sympathy for
England's dogged courage.

Find in the passage words that mean
(i) Disgust

(ii) Disappointment

(A) Upsurge, liberate

(B) Violence, aggravating

(C) Revulsion, Disillusionment

(D) Peril, Dogged

SET-C

78.

79.

80.

81.

XXI-1
Which of the following statements is
true -
(A) Indian Army under the Nazis were
trying to liberate the country.
(B) Indian Army under Subhas Bose
was trying to liberate the country.
(C) Indian Army under the Russians
was trying to liberate the country.
(D) Indian Army under the Japanese

was trying to liberate the country.

According to language teaching experts
the early education of a child should
bein -

(A) The first language

(B) Second language

(C) Foreignlanguage

(D) Multi language

In continuous comprehensive

evaluation, the teacher tries to -

(A) Find out to what extent the learning
objectives are achieved.

(B) Make the learner assess the
teacher.

(C) - Identify the special needs of the
learners in a group.

(D) Make the learner by cramming
learning.

The alphabetic method, the phonic
method, the word method and the
sentence method are associated with-
(A) Listening

(B) Speaking

(C) Reading

(D) Writing

P.T.O.
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82. Effective learning takes place when the

learners are -
(A) Passive

(B) Quiet

(C) Interactive

(D) Good at preparing for the
examination

83. In order to assess the all-round
development of a learner, a teacher has
to take the help of -

(A) Unit-end evaluation

(B) Term-end evaluation

(C) Continuous and comprehensive
evaluation

(D) Month-end evaluation

Direction (Q. No. 84) : Rearrangeé the
following words and phrases to form a
meaningful sentence. Choose the correct
atternative sentence.

84. services will/tourism in/air taxi/the

state/ boost

(A) Tourism in the state services will
boost air taxi.

(B) Air taxi boost services will
tourism in the state.

(C) Air taxi services will boost
tourism in the state.

(D) Services will boost tourism in the
state air taxi.

Direction (Q. No. 85) : Choose the most
suitable option that describes the meaning
of the following underlined idiom and phrase.

g85. Theexam went down in flames, I should
have studied well.
(A) exam paper got burnt
(B) passed with goodmarks
(C) failed spectacularly
(D) exam hall caught fire

SET-C

XXI-1

Direction (Q. No. 86) : In the following
sentence choose the antonym to the
underlined word.

86. She was determined not to dissipate

her energies.

(A) Utilize
(B) Conserve
(C) Manage

(D) Organise

Direction (Q. No. 87) : In the following
sentence choose the synonym to the
underlined word.

87. She requested him notto abandon her.

(A) Try
(B) Join
(C) Keepup
(D) Forsake

Direction (Q. No. 88 - 89) : Select the
incorrectly spelt word from the following.
88. (A) Potassium

(B) Possibility
(C) Parasology
(D) Preamble

89. (A) Pursue

(B) Persuit
(C) Persuade
(D) Peruse

pirection (Q. No. 90) : Select the correct
atternative which can be substituted for the
sentence below.
90. A person who talks in sleep is called-
(A) Philatelist
(B) Somnambulist
(C) Somniloquist
(D) Oneirocritic
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1 fxei - < XXI-1
61. RraRoll g T® TROr quri: e 67. YRV 3Maf faeht -
(A) 15 (A) Rrere: w@d giaroT Heam G T
(B) 19 BEM Al 3N T HRAf|
© 17 (B) BIEE WM URGad GgaHdl
D) 21 wafa|
(C) TH@EEs HRIAI
62. A5t vl e framey waf, o s (D) FYEITIRY BEAVTH IS
(A) Pd T MBRAT |
(®) ;ﬁﬁ 68. WRpamEl MR-
() ¥ FT (A) ardinTewes
(D) Y HE (B) ONTEHG
63. ‘fgq v fdrn Rwfe sgaas wd (C) feparests
s (D) SIS
(A) fag=: 69. cUsraAlaY: WAt wafd-
(B) fagum (A) @arl e
(c) fgw: (B) 3rgd R
(D) fagom (©) =T Ry
(D) e TRemt
64. TYTT FHRIRY W& Hald- :
) 70. WRANS wR Ipd REvRa JEeesd
' et
(B) BHURY: (A) IR AP dIY SATCHHIEIBILHH
e (B) A ST ST
(D) T: (C) YERARY Sy
65. RGBT ACEIRY TR FR- (D) FERoT Y foT
(A) -drffbdR: 71. @ Riere wET 35w sikd
(B) FRPBR: (A) THARSHH
(C) HIEUDR: (B) WeqTeRp: o
(D) THTHR: (C) i Irp: fadr
(D) SIGUTERE: fadT
66. ‘UG UUGTAT YI=aspld oal’ 3 B
TABR: ? 72, BE: GAT-RIRN-E AR
(A) T (A) TS ST A
(B) SN (B) Wisc-fer AreaA
&5 (C) St wwor AeERA
( (D) HAT-HEMET AT
(D) D
SET-C [25] P.T.O.
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P91 srehfoRad meriel oftean e (73-76
TRiwT) wfety s R
UHAT Ue: dafRres: werRTgua: SNt e
TRIER T Jiear| g ue: ufkesas:
HBUT I gufcHEear: wwif g
Pl arew:, o JnfoRaR weer $o| AT
e . o s g At
s gatt aifer w1 g oRemre gty
HRIAT SN TS forsme Wi g
sglvas YT va wReham: TR H
STIcTe! e aTeiaf~ | 3rqed oo gRwm:
0y $eaw TR G| e R g
Ay, TYEiEy, gay {6 ot sraay af
ST w3

73. Tal &RI®: 3WE: WUy weEdn: &
HAl~TH?
(A) TEBRIH

(B) 9o
(C) U&T-IeH
(D) Hiawg 3IRTEAH

74. o [qgR YAy SrIaHY STk T 1R ?
(A) KR
(B) 3mgeHH
(C) uRaRew
(D) <rgufa wEeTw

75. UL B YoT BRATTH?
(A) e
(B) UM W@ugwy
(C) Ty
(D) 3T

SET-C [26]

XXI-1

76. Yot uRemm Ireufameedd i gea

BIH?
(A)  SFfcHl T
(B) #ftimiitusy

(C) smgmwaare fAsrErEd
(D) defry

e : arefafad e ofsar a1 (77-80

77.

78.

Td=) Ffet seRion fage|

R iR siYgeuiuad: A
q: O THI0T HEdi RifeHared| 37 @
T AR FYE:| vbal & e
I | T TERRd gk THer 2
TTATRYT AT | qiel: T Y
Tewatta geen fHem seer| 9@ g3
forssar s gf SR g TEwanEA
Jfded - AH Y3 U9 1| H1E: TG0T JaTaig
- ¥g| HE TWAUW: GHIAUT TF ar=dnA|
@RAHT §: Waa: §E9 G, wRiE 9
P - FH T THIEOT R IS
afg| saTgaTS- el | gEhemar: W vest
O R et W PR g v
a: |

Scannex d with CamScanner



79.

80.

81.

82.

83.

84.

mmmﬁmm?
(A) fer 2

(B) W&&

(C) W=

(D) TERRI

37 T T IR0 A At 3T : e ?
(A) i

(B) eI

(C) T

(D) T

T o HRIG 3RG HHATA WU Hia=fd-

(A) o ot Teadl
(B) o B BRd|
(C) o @i BRI
(D) aar Frt fEadl

Taga FaRor @or uke: wafd-
(A) UTHE - S
(B) U - I
(C) gt - de
(D) Tl - W

UxMdE Hea-
(A) HTAUH
(B) e o
(C) WETRaH
(D) faw

(A) Hq
(B) HH
(C) THH
(D) TG

SET-C

[27]

85.

86.

87.

88.

89.

90.

(A) SATHIUTH

Scannex d with CamScanner

XXI-1

P.T.O.



T foee - 3

IOy SN
- (A)

Jit (B)

U1 (C)

wi (D)

RIS BTN Y DN S
e iU

<8 W

‘;(‘2/}1)/ (B)

F&’ﬁftﬁé (C)
S FE (D)

R
(j':’i_"/" (A)

vass (B)

A (©)

£z (D)

SET-C

-64

-85

XXI1-1

AL Dy L b1 s
d)l..:ug Iy - j’/vﬁ ALy

f.;al'.‘a(i.lhﬂ.__ 2Pl fe R

--T—L'J’dewé;{:{g/%:',gvmé

Se|fi¥art 61

GUtlsy (A

Zie (B)

JAte (C)
£z (D)

v Bleie LU its  -62
ey (A)
wEA (B
sadnde S (©)
Sl (D)

T 18004 BL LK 63
by ()
Ao (B
KLkt (©
SJEKFnkid (D)

[28]

Scannex d with CamScanner



ez b -70

S (A

bl (D)

e teble STl T

sl (A)

el (B)

Ly (©)

ety (D)

SE i Ml 5t
e

e2ptle ()

P ()

g (C)

w2l (D)

SET-C

0L SoSfenbeitils 6T
NEMIAIATIZINTN
txallnd (B)
JisindE (©
nezshza (D)

?%g(tK_,D’JJLoJiJM 68
S (A
W7z (B)
King  (C)

f/}"":_,? (D)

Jd?.j I l}yl:’/dwrc.d J.'. s -69

[29]

Scannex d with CamScanner

XXI-1

P.T.O.



e e L iz
*.‘L,-':-",,.» v

M)

Js o (B)

st (C)

S (D)

b T3 RNy ‘w( ;Jlbd:"
e

okl pustf (A)
it v (B)

’b-///..-

&k J','/&fu’-'f—‘/u't-( (C)

s:.-?
&yttt - (D)

> - o 5{ . j
RASVING Vs w:_(!"vu"kﬁf'u

. & o
(,7.’_', f!g-ub.&/ "'Jb

3 fe ()
2/0mes (B)
-&:/i-:'v,ﬂ’ (C)
3627 (D)

SET-C

-76

77

[30]

e gy sy

Sudd3) ()
ninF (8)
S ey (C)
=% (D)
Vi

?é)z ifgrenily
Ty (A)
o sl (B)
2 ()
s )T (D)

e (LA RS AR

« (A
Iy ’J‘y (B)
bid (C)

(D)

Scannex d with CamScanner

-13

74

XXI-1



SET-C

u"’g’w-@’a.u,p/ﬁtutduﬁjzosoc,u
£ Fmondt/l e clendlmeil st
AN R A BT TN
Qb Ao 0y S UEL LA F
SIS PPN g PN o
SR E) Vi s
w2 s 2T ld e fls
L LUF N FS e ng sl
Edusl Al e EEeF,
S st S i LU
I T Smlon iy 3L D
s et e i S o3PS upiin
e G CHS L
?a’a_tgt[jwm’w.w& -81
(289 (A)
=2 (B)
42-k,uf;~ (C)

c.arb*gfd{éﬁaﬂla (D)

[31]

XXI-1

02U o Tt XIS _19

(A
Je (B)
S ©
¢t (D)
st/ BT U LDz UT 80
K (A
%3 (B)
Ji ©
Fss (D)

= 81 A S T AU 5t 2
_gud;gélj 85
N L F 20350 L af ) AL
G5 e b S sy G S
Slrme o Se e i P
S vwe L Jie ertd
7 S B e LN

Scannex d with CamScanner

P.T.O.



XXI-1

- | “.
P ow o C o a2 82
3 Y PR T S - S S I

¢ AL ey A e Ly -8 le. U'b(/fu'-"‘b-“""‘-: - v

HORITO RN ITIVES & -t N
2, (A)

IR Jugr (
S L Lo/t

o~

2L 2025 (A)
JV:/& (©)

2 L.F2030 (B
Juz (D)

i~ .

2L F2035 (O y

— 2 LB ,»j.f./t/&?ﬁ, -83

‘j:"-f'-fzodfo 2 ?J::;«;t‘ﬂ:nsl/fxb/.zv

= 86 A e LU Is 2 Lifdvteti ()

_rz_p.d:pé:.fgo Lifledicr (B)
¢ i 2T (©)
e Jai il Ao LfSdvdse
“ <= Yz (D)
LJﬁ?JUF;’&%B)E})UJ’ Ju:‘lmrluf Z—/JVV-‘{‘.'C—U:

A oc Uil Uz 12 224 AP0 ASUTL RS ES -84
L Sekd e Pl il S B
St L L Lot LE750LEL ()
-ngé&z.:/jgfrt[,uf;lfnfﬁw,ﬁ L&A AT (B)
JLE o fer e i E A LiE s Lif§den (0

npevaey BIISUi St LSt (D)

SET-C [32]

Scannex d with CamScanner



XXI-1

QiL./lfféfufZ;.l/J/: -88 )::{:21; '/ﬂj,o}/;a’bfc.'r;bgﬂfﬁ_ia;

&ty (A) 2 S SN S e
L (B Tt S A B
. © ﬂ/?@’idvf'b/’df-@wﬁdwﬁv‘ufum

i‘)—/{‘f”" (D) l[o(l:..&b*c.z{ff’/fd_‘)/:ﬁ’&d_.lg

éthJ/;.c//'? lg(d?‘u‘{fo//;;gﬂﬂ"?éulul
..gfnJ’G ¥

iy daeahlJe =t -89

cgga.fé_lgf;;’ﬁ‘a./
AL (W

S el 1 <86
?a‘-f’j'ﬂu(umwy: (A)
)JL.Lyful (B)
‘e pifura  (8)

J b (C)
o ?Juf"ﬂ_l:(‘:._)y)u:’g(u:’hf’l' (9,

w/ At (D) e P it ()

Wl fevdimdde  -90 Stz e s 87

UsisJe =t (A) g_nJLJ:IA;Ju:’Ua{T (A)
§F ® < fLafund T ®
A1 © e fiddurs (©)
S iF U (D) cotmsfurs (D)
SET-C [3'3] P.T.O.

Scannex d with CamScanner



Matlmtics XX
91. f&d wm @ p ailk Q frmax 12 A1, Q 91. A work can be completed by P and Qin
3k R e 15 Al § o R 3R P freas 12 days, Q and R in 15 days &R and P
20 &= & gaa o) wea €, dF P oar in 20 days. In how many days P alone
foam =1 & o9 9E ara? can finish the work?
(A) 10 (A) 10
(B) 20 (B) 20
(C) 30 (C) 30
(D) 60 (D) 60
92. 40 TPl & men & sitwa 3@ 86 &l 92. The average marks obtained by 40
af 5 Tdiag 3i® g 7Y 5, ?ﬁ e students of a class is 86. If the 5 highest
: A marks are removed, the average
o m S ARTEL S m > reduces by one mark. Find the average
S St W6 S - marks of top 5 students -
(A) 92 (A) 92
(B) 96 (B) 96
(C) 93 (C), /93
(D) 97 - (d) 97
03. yRIfie W & TOE AEATH 35 T 93. " What is the 7n'féjor problem found in
TR T & ' primary level teacher of mathematics?
(A) RIEOETENT FRIET &1 3HE (A) Lack of pedagogical training
(B) o &1 3WE | (B) Lack of preparation
©) AReRAERoT I T (C) Busynessinrecord maintenance
(D) =¥ GRSl (D) None of these
o4, TyEfifag 3 ¥ a9 & R =, _\?ﬁ 94, Which-of T:hle follc;winwg method is based
: on principles of " i
ik S & fagrt W areRa 29 Iear:"? Y atch, listen and
(A) sredrreen fafts (A) Laboratory Method
(B) W fafer (B) Demonstration Method
(c) == fafy (C) Lecture Method
(D) m & (D) Research Method
SET-C [34] P.T.O.
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95.

96.

97.

98.

afe x+y=2a &, a

g -
(A)
(B)
(©)
(D)

a
+
x-a y-a

o7 HIA

2
2a?
0
2a

ve fysreng & 400 WH H SR T dfer
5: 3 % 3T ¥ & a&TIR, 39 Ul B
5: 6 # uRafdd &1 & foe fovaw o <fan
ik femn anige?

(A)
(B)
©
(D)

50

150
550
300

U5 979 & 319 9T &R, 9d® H A 1 'eH
R 7 1/3 & o 81 @@ =, 39 3iw
TR, T § 1 3% | 1/2 & ST 2|
TEIER, 39 [HE & 319 a7 & &I ANTHe
foe €2

(A) 10
(B)
(€
(©)

18
7
16

Uh PR U [Rud amr @ 48 ). /e
@ T F 10 6 ¥ e % Ged) 21 39
T B 8 U H 77 IR ¥ e R Y M
4 foert gfi @ anfer

(A) 6 fonn. /g,

(B) 12 foosir. /g,

(C) 15 foedt. /g,

(D) 60 fHdy. /e,

SET-C
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95.

96.

97.

98.

XXI-1

If x+y=2a, then the value of
a a '
+
Xx-a y-a
(A) 2
(B) 2a?
(C) O
(D) 2a

is -

Zinc and Copper are in the ratio 5:3 in

400 gm. of an alloy. How much of

copper (in gms) should be added to make
the ratio 5:67?

(A)
(B)
©
(D)

50

150
550
300

If 1 is subtracted to both the
numerator and the denominator of a
fraction, it becomes 1/3. If 1 is added
to both the numerator and denominator
of that fraction, it becomes 1/2. Then
the sum of numerator and denominator
of that fraction is -

(A)
(B)
©
(D)

10
18
7

16

A car can finish a certain journey in 10
hours at speed of 48 km/h. In order to
cover the same distance in 8 hours,
the speed of the car must be increased

by -
(A)
(B)
©
(D)

6 Km/h

12 Km/h
15Km/h
60 Km/h

P.T.O.
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99. I 2160=22x3°x5¢, A 32x2°P%5C BT 99, 1If 2160 = 22 x 3° x 5¢, then the value
A B - of 32 x 2® x 5°¢ will be -
(A) 81/40 (A) 81/40
(B) 37/39 (B) 37/39
() 172 (C)y 1/2
(D) o (D) O
100. 50 7O &1 aRRT AR 1681 arirE @ 100. If third Friday is on 16t of month then
Tear & A 3 TR @1 den SR - what will be the date of fourth Tuesday
AT B T ? of that month?
(A) 27 | (A) 27
(B) 29 (B) 29
(C) 20 ‘ (© 20
(D) 22 (D) 22
101. ofe v TR & d=E 3R disH HRE 101. If the length and breadth of a room is
10% 3 20% T o7 3k 3 Sars decreased by 10% and 20%
@ 5% FIT ST 3 59 R I W respectively, while height is increased
by 5%, then what percentage will be
® g % e e aRae e changes in the volume of the room?
(A) 24.9% (A) 24.4%
(B) 24.6% (B) 24.6%
(C) 24% (C) 24%
(D) 24.2% ' (D) 24.2%
102. gfe <= 5132416p, 3 A s &, p 102. If number 5132416p is divisible by 3,
. then which digit will come in place of
& WM W HF-3T 3 0? » P
(A) 8 ) 8
(B) 6 B) 6
< 7 ©) 7
(D) 9 (D) 9

SET-C [36]
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103. \1243 +\sz+\f1'08+ﬁz’9? ® 7= & - 103. The value of \[248 +J52+Jms-
(A) 14 _ will be -
®) 12 (A) 14
& - 1 (B) 12
(C) 16
(D) 13 (D) 13
104. T 3% I 5 | 9T & R A @ & - 104. When the number 3% is divided by 5,
(a) 1 then the remainder is -
(A) 1
® 3 (B) 2
< 3 © 3
(D) 4 (D) 4
105. f5a Tuel & Jovel o g, 10 faar J 105. In how many hours, the number of
i TET o R e - seconds is equal to the number of
(A) 29 minutes in 10 days -
(B) 3®wC | (A) 2hours
C) 4 e (B) 3 hours
(D) 56 (C) 4 hours
(D) 5hours
106. afc 9 x 7 6
106. If 9 X 7 6
—— 6 y 9 L & e
AR AR 3.y vy 7
@ x 3Ry & A E - then the value of x and y are -
(A) x=9;y=3 (A) x=9;y=3
(B) x=3;y=9 (B) x=3,y=9
(CYix=5:y=8 (C) x=5;y=8
(D) x=4;y=8 (D) x=4;y=38

SET=C [37] P.T.O.
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107. (7+ 24/6) & @A & - 107. The square root of (7 + 2+/6) is -
(A) J6+1 (A) J6 + 1
(B) V3+2 (B) 3+2
(C) 2+ 45 (C) v2++5
© 2+45 (D) 2+45
108. T B @I 3T 64 .0 RI T BN P 108. The volume of a cube is 64 cm?. The
g&ﬁa Sa%a &N — total surface area of the cube will be-
(A) 12 3.2 (A) 12 cm?
(B) 24 3.2 (B) 24 cm?
(C) 48 .2 (C) 48 cm?
109. TP THOWT Frgat eT a1 gl - 109. A right angled triangle cannot be -
(A) An equilateral triangle
A) Td HHEg i;ﬂja
(B s m ﬁ“ﬁ' (B) Anisosceles triangle
() (C) Ascalene triangle
€ 114 (D) Apolygon
(D) T I
w N . 0. The greatest five digit perfect square
aff s & - 1
110. o il O TEd @St gt rberis -
(A) 99999 (A) 99999
(B) 99976 (B) 99976
(C) 99856 (C) 99856
(D) 99764 (D) 99764
| g1 {3 1 {s (3 L1 4 )Hﬁ - 111. The value of-
": 111. ° ~|°32° ——\et3i57 Tc
; 122716 5710 15 1 _[51 5_(§+_1___4,)H il
21 - $7|°2716 (5 10 15
" 21 be -
(A) 10 21
17 (A 1o
B) 1o 17
B) 1o @
] 8 8
© 710 © 15
12 12
@) 70 ®) 1o

[38]
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112. 3 qorr 200 & dra foba=t e e 7 X

113.

114,

115.

fwfsa enfe
(A)
(B)
©
(D)

27
28
29
30

AT A (a, 8) = 43R 9. (a, 8) = 24
A, NI EIE -

(A)
(B) 8
©
(D)

14

10
12

80 HI. TV AT TP JUIOR UIb & 3R
HEIDAT ABE B UH AMHR el Dl Ha=
&1 8| W & HaF BT 4ABa & -

(A)
(B)
©
(D)

6400 AY?
3200 HY?
1600 W2
12800 H2

ae fafr ot sameoll & grr A P
DRI S -

(A) Trm= faft

(B) 3w fafyr

(C) fawcmor fafy

(D) vergur fafty

SET-C
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112. How many natural numbers lie between

113.

114.

115.

3 and 200 which are divisible by77?
(A) 27

(B)
(&)
(D)

28
29
30

If HCF (a, 8) = 4 and LCM (a, 8) = 24,
then the value of 'a' is -

(A) 14

(B) 8

(C) 10

(D) 12

In a circular park of diameter 80m), there

is a square shaped playground of
maximum area. The area of the
playground is -
(A) 6400 m?
(B) 3200 m?
(C) 1600 m?

(D) 12800 m?

The method in which new rules are
established by examples is -

(A) Deductive Method

(B)
(C) Analytical Method

Inductive Method

(D) Synthesis Method

P.T.O.
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116.

117.

118.

119.

120.

TG Y TEifE W IR -
(A)  diemioTd

(B) 3T

(C) @mivTa

(D) sAfaw v

T W) R 1| O 3T HEd 8
(A) TPIdD
(B) HMIS®
() ufi®
(D) wH®

2R $ oFER - Mo Far B ol
21" U7 ouF T & e qa § wwtea
&

(A) HRplid qed

(B) IS Hed

(C) oFEH Tadl 4o

(D) P T

gig x:y = 1:2 &, d (8x+9y) @ (8x+2y)
BT A4 T Y

(A) 22:29

(B) 29:22

(C) 13:6

(D) 6:13

fes<ir 30 ¥, Prwan @en 45 WA 3 €D
@1 faenas 5 3. Prsan arett 37l # oRafda
oo | el o e i Hifre -
(A) 81

(B) 41

(C) 80

(D) 40

SET-C
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116. The oldest branch of Mathematics is -

117.

118.

119.

120.

(A) Algebra

(B) Arithmetic

(C) Geometry

(D) Astrology Math

What is the importance of Mathematics
at Primary level?

(A) Cultural

(B) Social

(C) Religious

(D) Mental

According to Hogben - "Mathematics is
the mirror of Civilization." This
statement corresponds to which value
of Mathematics ?

(A) Cultural Value

(B) Social Value

(C) Disciplinary Value

(D) None of these

If x:y = 1:2, then the value of
(8x+9y) : (8x+2y) will be -

(A) 22:29

(B) 29:22

(C) 13:6

(D) 6:13

If a metallic cone of radius 30 ¢cm and

height 45 cm is melted and recast into
metallic spheres of radius 5 cm, find
the number of spheres -

(A) 81

(B) 41

(C) 80

(D) 40
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121,

122,

123.

124.

125.

JAIGROT 31

Environmental Studies

XXTI-1

HISH @H & qger @iRed O 59 Qe
B bF fean S €, 3% AaRT ¥ 3w
T8 R wifee, w0 -

(A) U gow e @ & B &)

(B) A anfad) werf & & axit &

(C) 3 JdaFliovoia werlf & & a6
(D) A IR-SFeoiy gemif &) &

B &l

faea &1 W A & WA wedr 5 @
TIpIdd e PiF-ar &2

(A) e

(B) oH

(C) ued

(D) T& & W

TAERUT ez # Seifre wmor @1 g
Jeeeg & -

(A) s B For @I fabfaa w=AT

(B) ®mEl & ford weaer 3rwa

(C) FHSIPRUT HT TgET a1

(D) €W W& qgH

gafaRor f@ren ¥ i & -

(A) Tt w aifalR dier eee)
[T AT

(B) uAfaRoT &7 AT Q@ S BT

(C) Toafal &1 gaRa= &

(D) Ti&m & wreaw ¥ ygiaRor & giid
B 3 FamEl

YR P HISH EHE & a8 GATaxor
YA Ygd A 3T I8 U © fob §=
uis H BT A& o @ & 309 @ Har?
(A) Us B AAG T & fore ag-3mar
gfe R snenfRa gea-sea wmficl
BT AT B4
YHROT B gad &
ﬂﬁmﬂmﬁ@aﬁ%hﬁ
|
T A Tl 5 T 6 )’ RR @
3R HR|

(B)
(©)

(D)

SET-C
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121.

122.

123.

124.

125.

Disposable plastic plates which are

thrown away after eating food, should

not be used because -

(A) they are made of materials with
light weight.

they are made of toxic materials.
they are made of biodegradable
materials.
they are made of non-biodegradable
materials.

(B)
(©)

(D)

The most rapidly dwindling natural
resource in the world is -

(A) water

(B) forests

(C) wind

(D) sunlight

The basic objective of educational
excuration in EVS is -

(A)
(B)

to develop the energy of children

first hand experience to the
students

(©)
(D)

to promote socialisation
to promote team spirit

Meaning of environmental education is-
(A) to engage students with
burdensome schedule

aware children about environment
to entertain children

to save environment from
pollution through education

(B)
(o)
(D)

After the lunch break, while teaching
EVS, you find that students are not
taking interest in the lesson. What would
you do?

(A) Use audio-visual aids based on
multiple intelligence to make the
lesson interesting.

Change the topic immediately.
Take the children out to play in
the ground.

Ask them to put their heads down
on the desk and relax.

(B)
(&)

(D)

P.T.O.
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(B)  Ridcnen e 1
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R T T i
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126, Highar priotity and space has been glven
In NCERT taxthooks on £VS Lo -

128,

(A)

(1)

(€)

(D)

Explaln basle concepts of the
subject,

Provide opportunities to learners
for conternplation and wondering,
Provide exact definitions of
technlcal terme,

Include large number of practice

questions,

. Aanchal frequently asks probing and

Imaginative questions in her Class V of

EVS. By doing so, she aims at
Improving-

(A) Observation skills

(B) Emotional Skills

(C) Thinking Skills

(D)  Speaking Skills

A teacher asks every child to use some

waste material from thelr homes and

make something usefyl out of it,

The pedagogical intention of the

teacher is not to -

(A)

(B)
(©)

(D)

Judge the best student of the
class,

Develop creativity among children,
Make children understand the

concept of recycle, reuse and
reduce,
Organize an exhibition of best

articleg made out of waste.
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130, HRAaS FT W TEK FAH 8-
(A) @
(8) URTR
(C) TWEC
(D) TSN
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(A) T & e R
(B) T B Hew
(C) I® &1 3cdftid 39dm
(D) SigRil GRT 3TrERoT

133, T S Ao S g N -
(A) 1986 ®
(B) 1988 H
(C) 1990 H
(D) 1983 H

134. YEvfeaar & Naar A I & -
(A) shema ¥

(B) @@ #
(C) &I H

(D) T A DI T
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129. Largest Ecosystem of the world is -
(A) Forest

(B) Grass Land
(C) Lake
(D) Ocean

130. First National Park of India is -
(A) Kanha
(B) Periyar
(C) Corbett
(D) Rajaji

131. In villages, people use wood as fuel
because -
(A) itis considered to be an ideal fuel.
(B) of its easy availability and low
cost.
(C) itis environment friendly.
(D) it catches fire easily.

132. Soil erosion can be prevented by -
(A) raising forests
(B) deforestation
(C) excessive use of fertilizer

(D) overgrazing by animals

133. Ganga Action Plan (G.A.P.) was
launched in -
(A) in 1986
(B) in1988
(C) in1990
(D) in1983

134. Intensity of radioactivity is measured
in-
(A) Decibel
(B) Curie
(C) Hertz
(D) None of these
P.T.O.
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Mycorrhiza is presentin -
(A) Cycas

(B) Rose

(C) Pinus (Chir)

(D) Buransh

Effect of Tinnitus disease is —

(A) Persistent ringing sound in ear
(B) Low eye sight

(C) Dry Skin

(D) Slow Heart Beat

Which of the following is/are not air
pollutant?

(A) X-Ray

(8) CO,, CO gas

(C) SPM particle

(D) SO, gas

Factor responsible for Little Ice Age is—
(A) Plantations

(B) Volcanic Dust

(C) Excessive Transport Vehicles

(D) Sound Pollutants

Raheem prepare a pond, fill water then

disperse fishes in it, but fishes are not

alive in pond. Its reason is -

(A) Deep Pond

(B) Absence of dissolved oxygen in
water

(C) Cemented Pond

(D) None of above

Suresh produced much production of
wheat without use of fertilizers in same
field, where peas were cultivated
earlier, Its reason is -

(A) Photosynthesis

(B) Transpiration

(C) Rhizobium Bacteria

(D) Respiratory Quotient
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141. Consider the following statements about

142.

143.

144,

145.

the soil and select the correct answer

using the code given below -

1. Soil is the basic medium for food
and timber.

2 Soil is an important resource.

3.  Allcommunities and their cultures
depend on soil.

Code :

(A) 1 and 2 are correct.
(B) 1 and 3 are correct.
(C) 2 and 3 are correct.
(D) 1,2 and 3 are correct.

Which one of the following is the
dominant elemerit of the Earth's crust?
(A)  Aluminium

(B) Iron

(C) Oxygen

(D) Silicon

Which of the following types of Forests
covers the largest area in India?

(A) Tropical Wet Evergreen Forests
(B) Tropical Semi-Evergreen Forests
(C) Tropical Moist Deciduous forests
(D) Dry Tropical Forests

Which is the first stage‘in the process
of a species becoming irreversibly
extinct?

(A) Ecological extinction

(B) Mass extinction

(C) Local extinction

(D) Biological extinction

Which of the following statements is
true with regard to water on the global
scale?

(A) Thereis not enough water available

per capita.

We cannot reuse water.

There is a lot of water and yet
there is scarcity.

The total amount of water in the
world is constantly decreasing in
quantity.

(B)
©

(D)

P.T.O.
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(A) S
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©
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146. Which one of the following fuels causes

minimum environmental pollution?
(A) Diesel

(B) Coal

(®)
(D) Kerosene

Hydrogen

Which one of the following is an abiotic
component of the ecosystem -

(A)
(B)
(©)
(D)

Plants
Fungi
Humus
Bacteria

Excessive exposure of humans to
UV-rays results in -

()
(ii)
(i)
(iv)

damage to immune system
damage to lungs

skin cancer

peptic ulcers .

(A)
(B)
(©
©)

(i) and (ii)
(ii) and (iv)
(i) and (iii)
(iii) and (iv)

Fluoride pollution mainly affects -
(A) Teeth

(B) Heart

(C) Kidney

(D) Brain

The type of pollution which is likely to
affect Taj Mahal in Agra to a greater
extent is -

(A)
(B)
©
(D)

air pollution
water pollution
soil poliution
noise pollution
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12,

3.

14.

v v

XXI1 -

Question Nos. 1 to 30 are related to Child

'Development and Pedagogy.

Question Nos. 31 to 60 are related to First
language - Hindi OR English. Candidate :has'
to select the questions of only one languageas

the First language. Answer the qucstioné ofthe '

language which the candidate has selected as

First language in his/her application form. J

Question Nos. 61 to 90 are related to Sgcqnd
language - Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in his/her application form.
Be careful that the language selected as First

language cannot be taken as Second language.
Question Nos. 91 to 120 are related to
Mathematics.

Question Nos. 121 to 150 are related to
Environmental Studies.

Rough Work can be done in specified space of
the Question Booklet.

Do not waste time in solving the questions. If

you cannot answer a question, proceed to the

_next one.

Do not fold or damage the OMR answer sheet

any way.

After examination submit your OMR answer
sheet to the invi gi]ator. Candidates are allowed

to take away the carbon copy of OMR answer |
sheet and Question Booklet. "' 5
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